




• In each of the following questions, a cube is formed when the figure given on the left hand 

side is closed. Choose the option made up of options (1), (2), (3) and (4) from the picture?

• निम्िनिनित में से प्रत्येक प्रश्न में बाए ंहाथ की ओर निए गए नित्र को बंि करिे पर एक घि बिता 

ह।ै निकल्प (1), (2), (3) और (4) नित्र से बिे निकल्प को ििुें? 



• BYTEW is related to YWTEB following a certain logic. Following the same 

logic, AMFQC is related to QMFCA. Which of the following is related to 

TILDW following the same logic?

• BYTEW एक निनित तकक  का पािि करते हुए YWTEB से संबंनित ह।ै समाि तकक  का पािि 

करते हुए, AMFQC, QMFCA से संबंनित ह।ै निम्िनिनित में से कौि समाि तकक  का पािि 

करते हुए TILDW से संबंनित ह?ै

A.LTIWD

B. WTLID

C. WILDT

D.WLITD



• A clock which is speeding up continuously was 5 minutes behind at 5 pm on 

Sunday, if it was 7 minutes ahead at 5 pm on Tuesday, when would it have 

shown the correct time?

• एक घड़ी जो नक िगातार तेज होत़ी जा रह़ी ह ैरनििार शाम 5 बजे 5 नमिट प़ीछे थ़ी यनि िह 

मंगििार शाम 5 बजे 7 नमिट आगे हो तब उसिे सह़ी समय कब नििाया होगा ? 

A.Monday 1pm

B. Tuesday 1pm

C. Monday 5pm

D.None of these



• A is 25 years younger than B. After 15 years B's age will be double of C's age. 

The present age of B is three times the present age of C. Then what is the 

present age of A?

• A, B से 25 िर्क छोटा ह।ै 15 िर्क बाि B की आय,ु C की आय ुसे िोगिु़ी होग़ी। B की ितकमाि 

आय,ु C की ितकमाि आय ुकी त़ीि गिु़ी ह।ै तो A की ितकमाि आय ुक्या ह?ै

A.25 िर्क

B. 30 िर्क

C. 15 िर्क

D.20 िर्क



• S is the son of P who is the mother of O. O is the daughter of K. K is the son of 

M. L is father-in-law of P. T is the father of O's daughter. Y is sister of T. Y's 

mother is Z. How is O related to Z?

• S, P का पतु्र ह ैजो O की माता ह।ै O, K की पतु्ऱी ह।ै K, M का पतु्र ह।ै L, P का ससरु ह।ै T, O 

की पतु्ऱी का नपता ह।ै Y, T की बहि ह।ै Y की माता Z ह।ै O, Z से नकस प्रकार संबंनित ह?ै

A.Daughter

B. Mother

C. Sister

D.Daughter in law



• In a row of crows, A is 10th from the left and B is 9th from the right. On 

interchanging their places A becomes 15th from the left. How many crows are 

there in the row?

• कौओ ंकी एक पंनि में A बायें से 10िां ह ैऔर B िायें से 9िां ह।ै अपि़ी जगह आपस में बिििे पर 

A बायें से 15िां हो जाता ह।ै पंनि में नकतिे कौए हैं?

A.31

B. 19

C. 23

D.28



• In a certain code language, 'GINGER' is coded as '30 30' and 'RADISH' is 

coded as '23 - 36'. How will 'TOMATO' be coded in that language?

• एक निनित कूट भार्ा में, 'GINGER' को '30 - 30' के रूप में कूटबद्ध नकया जाता ह ैऔर 

'RADISH' को '23 - 36' के रूप में कूटबद्ध नकया जाता ह।ै उस़ी भार्ा में 'TOMATO' को नकस 

प्रकार कूटबद्ध नकया जाएगा?

A.5-45

B. 39-41

C. 49-39

D.48-36



• Statements: 

• Some strawberries are bananas./कुछ स्ट्रॉबेऱी, केिे हैं। 

• All bananas are avocados./सभ़ी केिे, अिोकैडो हैं। 

• Some avocados are grapes./कुछ अिोकैडो, अंगरू हैं।

• Conclusion:

• I. Some avocados are bananas./कुछ अिोकैडो केिे हैं।

• II. Some grapes are bananas./कुछ अंगरू केिे हैं

• III. Some avocado are strawberry./कुछ अिोकैडो स्ट्रॉबेऱी हैं।



• Select the term that will replace the question mark (?) in the following series.

• उस पि का ियि कीनजए जो निम्िनिनित श्रंििा में प्रश्निािक निह्न (?) को प्रनतस्ट्थानपत करेगा। 

• VRS, TSO, PUK, NVG, ?

A.JWC

B. JXC

C. LWD

D.LXD



• 'Football' is called 'Cricket', 'Cricket' is called 'Basketball', 'Basketball' is called 

'Badminton', 'Badminton' is called 'Volleyball', 'Volleyball' is called ' is called 

'hockey' and 'hockey' is called 'golf', then which of the following is not a game 

played using a ball?

• यनि 'फुटबॉि' को 'निकेट' कहा जाता ह,ै 'निकेट' को 'बास्ट्केटबॉि' कहा जाता ह,ै 'बास्ट्केटबॉि' 

को 'बैडनमंटि ' कहा जाता ह,ै 'बैडनमंटि' को 'िॉि़ीबॉि' कहा जाता ह,ै 'िॉि़ीबॉि' को 'हॉकी' कहा 

जाता ह ैऔर 'हॉकी' को 'गोल्फ' कहा जाता ह,ै तो निम्िनिनित में से कौि सा िेि एक गेंि का 

उपयोग करके िहीं िेिा जाता ह?ै A.िाि़ीबाि

B. बास्ट्केटबाि

C. हॉकी

D. निकेट



• Select the number from the given alternatives that can replace the question 

mark (?) in the following series.

• निए गए निकल्पों में से उस संख्या का ियि करें जो निम्िनिनित श्रंििा में प्रश्न निह्न (?) को

प्रनतस्ट्थानपत कर सकत़ी ह।ै

• 9, 22, 14, 18, 21,?, 30
A.18

B. 14

C. 16

D.12



• Arrange the following words according to dictionary order.

• निम्िनिनित शब्िों को शब्िकोश िम के अिसुार व्यिनस्ट्थत करें।

• 1. Dillydallying

• 2. Dillydallied

• 3. Dillydally

• 4. Dilled

• 5. Dillydallies

A.42351

B. 42531

C. 45312

D.45321



• From the given words, select the word which cannot be formed using the 

letters of the given word.

• निए गए शब्िों में से िह शब्ि िनुिए जो निए गए शब्ि के अक्षरों का प्रयोग करके िहीं बिाया जा 

सकता ह।ै

• INFORMATION A.NATIO

B. INFRA

C. RATION

D.MATER



• 'China' is related to 'Yuan' in the same way as 'Japan' is related to '.

• 'ि़ीि' 'यआुि' से उस़ी प्रकार संबंनित ह ैजैसे 'जापाि' 'से संबंनित ह।ै

A.Rand

B. Sushi

C. Lira

D.Yen



• Select the related number from the given alternatives.

• निए गए निकल्पों में से संबंनित संख्या को िनुिए ।

• 4:17:7:?

A.49

B. 50

C. 51

D.52



• Select the odd number from the given alternatives.

• निए गए निकल्पों में से निर्म संख्या को िनुिए।

A.169

B. 421

C. 529

D.289



• Hans' birthday is on Monday 5th June. If Tushar was born on 11th December, 

then on what day of the week will be Tushar's birthday in the same year?

• हसं का जन्मनिि 5 जिू सोमिार को ह।ै यनि तरु्ार का जन्म 11 निसंबर को हुआ था तो समाि िर्क 

में सप्ताह के नकस निि तरु्ार का जन्मनिि होगा?

A.Sunday

B. Wednesday

C. Monday

D.Tuesday



• A truck travels 36 km in the north direction, then turns west and travels 9 km, 

then turns south and travels 50 km, then turns to its left and travels 9 km. 

Where is he now with respect to the starting position?

• एक रक 36 नकम़ी उत्तर निशा में यात्रा करता ह,ै नफर पनिम निशा में मडुकर 9 नकम़ी यात्रा करता ह,ै 

नफर िनक्षण निशा में मडुकर 50 नकम़ी यात्रा करता ह,ै नफर िह अपि़ी बाए ंनिशा मैं मडुकर 9 नकम़ी 

यात्रा करता ह।ै आरंभ स्ट्थाि के संिभक में अब िह कहााँ ह?ै

A.14 km north

B. 86 Km South

C. 86 km north

D.14 km south



• In question below shown, count the number of triangle and squares.

• ि़ीिे नििाए गए प्रश्न में नत्रभजु और िगों की संख्या नगिें।

A.44 triangles,10 squares

B. 14 triangles, 16 square

C. 27 triangles,6 squares

D.36 triangles, 9 squares


